
• LUX TEZGAH ALTI 2 SEPETLİ ŞİŞELİKLİ ÜNİTE MONTAJ SEMASI  
• LUXURY UNDER-WORKBENCH UNIT WITH 2 BASKETS AND BOTTLE DIVISION MOUNTING INSTRUCTIONS

KULLANILAN PARCALAR
ITEMS PART

NO PARCA RESIM  / PART DRAWING
ADET 
PCS.

1 2

2 2

3 1

4 4

5 1 Tk.

6 4

7 4

8 8

9 4

10 4

11 16

Product Code C (mm) A (mm)

S-2170 300 105

S-2171 350 155

S-2172 400 205

S-2173 450 255

S-2174 500 305

S-2175 550 355

S-2176 600 405

1.1

2.1 2.2

4x
M4x10

8x
3,5x16

4x
M4x8

1

2

1.2



• LUX TEZGAH ALTI 2 SEPETLİ ŞİŞELİKLİ ÜNİTE MONTAJ SEMASI  
• LUXURY UNDER-WORKBENCH UNIT WITH 2 BASKETS AND BOTTLE DIVISION MOUNTING INSTRUCTIONS

3.1 4.1 5.1

8x
M5x10

1

2

Product Code C (mm) B (mm)

S-2170 300 190

S-2171 350 240

S-2172 400 290

S-2173 450 340

S-2174 500 390

S-2175 550 440

S-2176 600 490

5.2

8x
3,5x16

4x
M5x15

6.1 6.2


